coorD GEOMETRY — STPM ~ PAPERI (M)

rite down the equations of the straight lines which pass through the given point and with
e given gradient, in the form y = mx + ¢, where m is the gradient, in each of the following
5Cases.

) (1,3),m=4 b)) 3,2),m=-=2
5 = 5 _3 _3
.(ﬂ, b),m=t @ 5 -5, m= T
tWrite down the equations of the straight lines which pass through the given pairs of points as
‘below.
@ 2.D,649 (b) (=2,6), (4,-2)
@ 27,43 @ (G,-2),1,4)

j ind the equation of the straight line which passes through the point (2, 1) and is perpendicular
ito the line 2y +3x -2 = 0.

Find the equation of the perpendicular bisector of the line which joins the following pairs of
points.

(a) (-2,4)and (2, -6) (b) (3,-1) and (-5, 2)

The coordinates of the points A, B, C, are (1, 2), (-3, -3) and (6, —4) respectively. Find the '
uation of the line which passes through B and is perpendicular to AC.

i?ind the acute angle between the following pairs of straight lines. Give your answers in radians.

(a) X+y+3=0,x-y+2=0 () 3x+y-2=0,2x+2y+5=0

© 2x-3y=0,x+2y=0 (d y:3x—1,y=%x+2

Find the equation of the straight line with positive gradient and inclined at an angle of 45° to
- the line 3y — x + 1 = 0 and passing through the point (2, 0).

o A(l, 4), B(-1, 3), C(1, -1) and D(a, b) are the vertices of a rectanglé. Find a and 5.
% Two of the four sides of a parallelogram lie on the lines x—y + 1 = 0 and 2x + 3y—-6=0, and
 the diagonals meet at the point (1, L). Find the coordinates of the vertices of the parallelogram

*“and the equations of the two remaining sides.

. Find the perpendicular distance from the point P(1, 4) to the following lines.

(@ 3x+4y+8=0 (b) Sx=12y+9 ‘

7 Show that the points M(~2, ~2) and N(2, 6) lie on the same side of the line 2x — y+3=0.
'The point R divides the line Joining the points A(0, -2) and B(8, —0) in the ratio 1 : 3. Find the

- coordinates of the point R and the perpendicular distance of R to the line passing through the
origin, O, and parallel to AB.

The point R(X, ¥) is equidistant from the line x + ¥ = 0 and the point (2, 2). Write down an
“equation connecting X with ¥,

The point P(X, Y) is equidistant from the lines y =xand y = 2x. Find the equation of the curve
on which P must lie.

» ) are two vertices of the triangle OAB with O igi
of the line which bisects the angle } 1 e

line OA internally in the ratio OB. BA.




ANSWERS

Exercise 5.2
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@ y=4x-1
© y=ix+(b-1t3
(@ y=3x-5
¢} 3y=5x+11
y-2x+1=0
(a) Sy-2x+5=0 -
6y—5x+3=0

@ 5

{c) 1.05
y=2x-4
d=3,b=0

N
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(b) y==2x—4
I
(d) y—4X+8

() 3y+4x=10
(d) 2y+3x=5

(b) 6y~16x-19=0

2 2 3
55 )

2X+3y~1=0, y—x+2=0

(a) 2L

5
2, -3), %«/5
(X=YR=8X+Y-2)
5(x— yP = 22x~ yp
X+ y=7

(b) 4
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